Review

Multiple choice question

Question - 1
Lecon: 2.5.2

QUESTION:

What is the most used tire size in transport?

ANSWER CHOICE: Only one possible answer X
Several possible answers

A) 445/50R22.5

B) 11R22.5

C) 11R24.5

D)12R22.5

Refer to if wrong answer: Lesson 2.5.2 from the student's workbook.

(A-A 2.5.2) Cth



Multiple choice question

Question - 2
Lecon: 2.5.2

QUESTION:

Identify the most reliable method used to know the load capacity of a tire?

ANSWER CHOICE: Only one possible answer x
Several possible answers

Check in the vehicle door frame

Check the tire manufacturer's book

Using a hammer or light mass

Check on the Internet

Check on the sidewall of the tire

Refer to if wrong answer: Lesson 2.5.2 from the student's workbook.

(A-A 2.5.2)

CeCr




Multiple choice question

Question - 3
Lecon: 2.5.2

QUESTION:

What do the three black blocks highlighted in blue represent?

ANSWER CHOICE: Only one possible answer X
Several possible answers

A) Tire Tread

B) Wear indicators

C) The outer flank

D) A retreaded tire

Refer to if wrong answer:

The small blocks at the bottom of the grooves are the indicators of maximum tire
wear. Driving is prohibited when the directional tire lights touch the ground. Lesson
2.5.2 from the student's workbook.

Guide to the safety round, mechanical shutter - tire (9)
https://saag.qgouv.qc.calfileadmin/documents/publications/quide-ronde-securite.pdf

(A-A 2.5.2) Cth-


https://saaq.gouv.qc.ca/fileadmin/documents/publications/guide-ronde-securite.pdf

Multiple choice question

Question - 4
Lecon: 2.5.2

QUESTION:
Which of the following situations can cause tire pyrolysis?

ANSWER CHOICE: Only one answer possible
Several possible answers X

A) Long-distance driving in hot and arid regions

B) Driving long distances with underinflated tires

X
C) Long-distance driving with over-inflated tires
D) -Driving the vehicle overloaded X
E) -Overheated brakes X

F)- Driving long distances on gravel road.

Refer to if wrong answer:

Lesson 2.5.2 from the student's workbook.

(A-A 2.5.2) Cth



True or False

Sheet to be completed - 5
Lecon: 2.5.2

QUESTION:
Always check the tires air pressure when they are hot.

ANSWER CHOICE: Only one possible answer X
Several possible answers

TRUE

FALSE
X

Refer to if wrong answer:

Cold, because the heat increases the pressure. Lesson 2.5.2 from the student's
workbook.

(A-A 2.5.2) Cth



True or False

Sheet to be completed - 6
Lecon: 2.5.2

QUESTION:

A retreaded tire is an economical choice for the carrier.

ANSWER CHOICE: Only one possible answer X
Several possible answers

TRUE

FALSE

Refer to if wrong answer:

Lesson 2.5.2 from the student's workbook.

(A-A 2.5.2) Cth



Multiple choice question

Sheet to be completed - 7
Lecon: 2.5.2

QUESTION:

The law in Quebec allows the use of retreaded tires...

ANSWER CHOICE: Only one answer possible
Several possible answers X

A) On a driving axle

B) On a steered axle

C) On a semi-trailer axle

D) All of the above

Refer to if wrong answer:

In Quebec, the law does not allow the use of a retreaded tire on the steered axle of a
heavy vehicle.

Lesson 2.5.2 from the student's workbook.

(A-A 2.5.2) Cth



True or False

Sheet to be completed - 8
Lecon: 2.5.2

QUESTION:

The maximum inflation pressure is indicated on the sidewall of the tire by the tire
manufacturer.

ANSWER CHOICE: Only one possible answer X
Several possible answers

TRUE

FALSE

Refer to if wrong answer:

The maximum inflation pressure is indicated on the sidewall of the tire by the tire
manufacturer.
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This indication can also be found in the door frame of the truck.

Lesson 2.5.2 from the student's workbook.

(A-A 2.5.2) Cth
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